RAILWAY RECRUITMENT BOARDS
¥ acdt s

RRB ALP & TECHNICIANS 2018

[Rell No: www.superpathshala.com
Participants Name: www.superpathshala.com

Test Center Mame: JON Digital Zone IDZ 1 Industrial Area Panki
Test Date: 113/08/2018

Test Time: 4:00 PM - 5:00 PM

Subject: IALP Technicians

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

et ﬁﬁ'ﬁm'mﬁﬂmﬁﬁm? Question ID - 9864493243

Status - Answered

Sound CANNOT travel through: Chosen Option :3

Ans .Hm. qa.ni.

0.2 g
E&Tﬂrmmtﬁaﬂtmwmﬂmsnﬁﬁmn et e 0

What is the age of the eldest sister if, the sum of ages of § sisters bom at the intervals of 3 Status - Answered
years each is 50 years? Chosen Option : 1

e v 16 9%

Q.3
TmaT f1 S wEEET f = R e & o 32 S e T ARG a0
In which language was ‘Babumama’, the Memoirs of Babur, composed? Status - Answered

Ans Chosen Option : 3
x 1 %%
Urdu




X2 T
Kurdish
T
VAR
Turkish
qoar

< 4
Pashto

Q4 5t B F FET YA REY S F FaEr A g
The female reproductive part of a flower is called:
Ans CIECED

Cuestion 1D ;9864493277
Status : Answered
Chosen Option 3

o Sepals
r E
Petals
X3 9+ET (Stamens)
Stamens
M
Carpel

Q5 fe guw X ST Y B0 o6 & o oy Y ATe TR T TR a1 3
gt =@ v gEt & fAve § 5w wee Y o K & o W aer # X
farm faam #r 3w A

In the moming, X and % walk towards each other in a park. When they meet, s shadow
falls towards the right side of X. In which direction was X facing?

Question 1D ;9864494112
Status ; Answered
Chosen Option : 2

Ans X 1 Jcdl
North
% T
East
v ST
South
75 4 I“ A
West

O sgamit & ggeT ofeT (power) Hr sHE B-

The unit of power used in industry is:

Cuestion ID : 9864493342
Status : Answered
Chosen Option ;1

Ans faelr atew

r G
Kilowatts
Aol
Kz "
Joule
X deH
Watts
W B o

Horse power




x4_i§<-'q'|ﬂ’|ﬂ121'

Galvanometer

Q.10 faafafie e (veregafts) # A, e Re(?) aanr aeie e

HEE, TR ¥ sqeees §1 v o Reed & @ sy sew = owmw
Gl

BE, 7F. 11H, 17K.?

In the following alphamemeric series, one tenn is missing as shown by the question mark
(7). Select the missing term from the given options.

SE, 7F, 11H, 17K.?

Anz X 1. 200
V2 250
X 3 20N
X 4 25P

Question 1D ;9864494297
Status : Answered
Chosen Option : 2

Q.11 fh ard &f #F oF T 4 9 & a7 we § s gm e wl g S
U Fadmm e mio S ot St o=
w @i S Reaw wEa & w e

Oz pipe can fill an enapty cistern in 4 hours while another can drain the cistern wisen full
in 10 hours, Both the prpes were tumed on when the cistern was half-empty, How long
will it take for the cistern 1o be full?

Ans X1_sa’%4uﬁm

6 hours 40 minutes
v23 e 20 e
3 hours 20 minutes
, 5 @¢ 30 fame
5 hours 30 minutes

4_4:&20%3

4 hours 20 minutes

x

x

CQuestion |0 : 9864492691
Status - Answered

Chosen Option : 2

Q.12 Rr=fafEs # # frww Tv 9T 59 & feopfts F6 & e e s
Ead

Which of the following is used for disinfecting drinking water?

Ans T UrsEy

Question ID : 9864493609
Status : Answered
Chosen Option ;2

Q.13

Question 1D : 9864493843
Status - Answered

Chosen Option : 1




RrmwE T AT T T AN Rt s w st
e dw e §7

Kabaddi

Foothall | ¥

Cncket

Football - Feate Kabaddi - 38T Cricket - frere
In the following Venn diagram the total number of stedents who play all the three games
Is:

w abadd

Fesibal ¥

Crgiat

Ans ¢1 S
X 2 85+Q
X 3 S+V
X 4 S+Q+V

Q.14 o= gz ABC &, FRFIT B T §, Bo=15 FAFET 3T an-s #ie b ol P
ABC & shiges e arn & A g & P v S

In 4 triangle ABC, right angled at B, BC=15cm, and AB=Scm. A circle s inseribed in
triangle ABC. Then the radius of the circle is;

Question 1D : 9864492658
Status : Answered
Chosen Option : 2

A x 1 2 WY

2em

Q15 Prafaf@ea 7 ® #i9 w1 Fée & 3t adi g 2

Which of the following is NOT the combined form of carbon?

Ans -
x | FTERET

Question 1D ;9864493172
Status : Answered
Chosen Option -3

Marble

X2 Hish
Chalk

X3 SeATET
Dolomite

v O

Diamond

Q.16

Question 1D : 9864494077
Status - Answered
Chosen Option : 4




forafafas Fwe # FeEfts s9gea e & anr qof &1

UF aE # AT U g g &1
Complete the following sentence with the most suitable option.

A shirt always has
Ans =

x1_m

a collar
A

a button

N 2

QAT oty frelt o= & Bl o 2 d8eler a1 Bm o & 35 e 448 @ S ;
T A § A 5w el wa & wes fent @ A wm gei CQuestion ID ;9864492714

If the edge of a cube is increased by 2 em, the volume will increase by 48% cm?. What Status - Answered
then will be the length of each edge of the cube? Chosen Option - 2

eon v 8 T
8 cm
xg_?ﬁfm
7 cm
9 HEHET
Ocm
6 TeTHeT

6 cm

N3

54

Q.18 )
Question 1D : 9864493895

Status : Answered
Chosen Option -4
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Problem Figure

g |

Problem Figure - Wi g

Answer Figures - Ieo sepforl
Choose the correct nurror image of the followang figure 1f the mirror is held at AB line

.ﬂ
D

Problem Figure

B |

-F .g|'.
A XA1C B C
X2B
XA
viD

'ﬂ
D

Q19 Frder (WY -12) F ve Arer # fraer oAy Er 2
How many atoms will one mole of Carbon (C-12) contain?
Ans o 1.6.02 x 1023

Question 1D
Status
Chosen Option

19864493388
CAnswered
14

X 2 60.20 x 10%¢
X 3.8.06 x 1020
X 46,02 x 10%¢

O o % wEEOT A, F e st &
In Force equation, F is equal to:
Ans  of 1 ma

Question 1D
Status

- 9864493259
cAnswered
Chosen Option :

X 2 mgh
X amv
X 4 u+at

2 FTH F FT THAT FT FAT FET AT &2

The capacity to do work is called:

CQuestion 1D
Status
Chosen Option

. 9864493321
s Answered
2

Ans Qm
Kt



Q.22 7 62,500 T 21% Fr i o F 1 2 a9 & e awgfe amsr = gom
Find the compound interest on ¥ 62500 at 21% per annum for 17 years.
Ans X 1. ¥19.687.5
X 2 T 20,695
X 3 T 21,638.5
v + T20.687.5

Cuestion 1D ;9864492586
Status : Answered
Chosen Option 3

Q.23 frdr 7o Treedt & & Wl o &1 999 w91

o TR A ST WA o T f, T S aEAsadr *
Tt ¥
Select the related word from the given alternatives.

“Explore” is related to ‘Discover’ in the same way as *“Walk' is related to

Ans 1 9dar oem=AT

Find

F g I [
Accelerate

753 {
Search
HATT

v &
Ramble

Question 1D : 9864493935
Status - Answered
Chosen Option : 4

¥ i ¥ Fie O v BfRos FEE 75 22
‘Which of the following is not a voluntary action?
& %

. B0 T

Closing of fist
& feor Fr usa

Beating of heart

TE FHl H AT

3

Ans

Moving a chair
Teh

, T el
Taking an object

X

Question 1D ;9864493616
Status : Answered
Chosen Option : 2

Q.25 e v gow & Fam, g ofe ok ofnafem o & &9 = wew S
F=H % = famar g aie?

To hear a distinct echo the time interval between the original sound and the reflected
soumd must be at least:

" :
" x, 0.2 3FE

0.2 second

Question 1D ;9864493324
Status : Answered
Chosen Option : 3




v 01 ¥FE
0.1 second
x o 1 9
1 second
x 4 2 S

2 seconds

Q28 el "WEar F 32%, 80 ¥ HEIT o £2

32% of a number is 80. What is the number?
Ans X140

CQuestion ID : 9864492947
Status - Answered
Chosen Option ;2

w2 250
X 350
X 4 260

Q.27 7 o¥ET ANAT areRcata T W AT SAET S A areheats
wHAT (o) & wifEe # At o e

Name the profiessional Inwdian basketball player who became the first ever player 1o be
drafted from India into the National Basketball Association (NBA)L

Question 1D : 9864492350
Status : Answered
Chosen Option ;1

e o, T g s

Satnam Singh Bhamara

X2 X i
Yadwinder Singh

o g
Ajmer Singh

x o UeheT ol
Akilan Pari

Q.28 Frrafafi frs Rews v fe o vl o o soni svamy wemand &
T T g

Whao stated the following law: ‘The properties of the elements are the periodic fanction of
their somic masses™?

Question 1D ;9864493374
Status : Answered
Chosen Option : 2

Ans -
x | T
Newlands
B cich
Mendeleev
3 HArster
Moseley
4 STl
Daobereiner

Q.29 2 Fwst & AUEEE 40 §1 W F TR wE 2.50 ¥ gEh s e i
The product of two numbers is 40, One of them is 2.50. What is the other mamber?

ans X 1.14

Question 1D : 9864492941
Status - Answered
Chosen Option ;4

X212
X315



v 16

Q30 JfE tana = V2- 1 & & tana - cota = ?
Iftana = 2 - 1, then the value of tana - cota =?

Cuestion 1D ;9864492917
Status : Answered
Chosen Option -1

e K2 +1
X 21
V-2
X422

Q.31 g 2017 & wwim ahE Mowfas s 3w T e AT fREeEr
firmer formT am

Who wrote the Indian historical fiction novel “The Rise of Sivagami® published in March

Question 1D : 9864492233
Status : Answered
Chosen Option ;1

20172
e St fardy

Amish Tripathi

2 avufa T
Arundhati Roy

x , GdGed TEATIH
Devdutt Pattanaik

v . G oo
Anand Neelakantan

Q.32 far v gEaedt F A9 AW &0 o4 A OF 50 & & st & (a3 e
AT T FEE T R NI (A )

Cuestion 1D ;9864494268
Status ; Answered
Chosen Option :1

T
Hg w1 i Bftas waw @ b

e
1. AT R TE Rm A Al

2. st Tl ofy o T A B

Read the given statement and identify which of the given conclusion(s) logically follow(s)
from the statement.

Statement:
Death keeps no calendar,

Conclusions:

1. Man st die one day,
2. Death can come ol amy tEme,

Ane x1mﬁ'{m&234§mmm%l

Only conclusion 2 follows.
1 AR 2 @t aregeRor T &
Neither conclusion 1 nor 2 follows.

1 3K 2 3t srgaer = §

Both conclusions 1 and 2 follow.

X

v



: Faer faswy 1 HTHIOT FHIaT ¢

Only conclusion 1 follows.

x

AR R EEF TR sAFE maER
If 192 pens cost is 10, how many pens can be bought for T §7
Ans x1 56
v 96
X 348
X472

Cuestion 1D : 9864492605
Status : Answered
Chosen Option : 2

Q.34 sy 7 F B ame ToeEe @ @ W F i F sueed e
India-bom Leo Varadkar became the Prinse Minister of which of the following countries?

Ans
x , ST 3
South Africa

CQuestion ID : 9864492165
Status - Answered
Chosen Option : 3

Q35 Ry & Rw v waftd ST § R W sqetera B g

&, 4,

Select the missing figure based on the given related pair of figures.

CQuestion 1D : 9864494179
Status - Answered
Chosen Option : 2

QR Ao ama, e o @i | aBsas @
T B:Cco6:13 @AY ACB:C ¥ AW I gEAT
There are red (A}, yellow (B) and green (C)tokens inabag A:B:53:8.B:Cu6:13.
A B Cis given by:

Ans X'1.3:8:13
N23:6:13

X33:48:13

Question 1D ;9864492805
Status : Answered
Chosen Option : 4




vi0:24:52

Q37 @rd 2018 ¥ ¥OF ¥ T=U9H F ¥ & rwwr fgEe e o 2

Ans

Who has been appointed as the Governor of Assam as of March 20187

I JHE

Question 1D : 9864492427
Status : Answered
Chosen Option : 2

751
Ganga Prasad

7> SRIETT HEY
Jagdish Mukhi

5 e

Banwarilal Purohit

geAvaAd T=ETAT

X

X 4
Subramaniam Swamy

Q.38 o Yoy, ey Tty & amiw @9, o0 Prairalier ofy oy oy oify s e &

Ans

W AT | T T FAw A g9 §6 OBAT & g e g A

#r = aE I we
A tradn, starting from rest, attains a velocity of 90 km'h in 5 minutes. Assuming that the
acceleration is uniform, the distance travelled by the train during this time is:

Question 1D : 9864493240
Status : Answered
Chosen Option : 2

x 325 EReieY

3.25 km

x 2 225 feretHeT
2.25km

s 375 feiAReT

3.75 km

1.5 faareeT

1.5 km

r

O Rrmrmr RS e d s e s r R d

Ans

Fe B T T §

p,q T & A w7

Question 1D ;9864494328
Status : Answered
Chosen Option :1

T

1. (p+q)f =16

Lop-gqedir=lp
Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘What are the values of p, q and r?

Statements:

L (p+q) =16
2. p=q=4r=2p

e
T & F9E &N & v Fya 1 3R 2 9 & g §
Both 1 and 2 are sufficient to answer the question.

N2
HaTel &1 4| & & v A Fua 2 & v 2

Only 2 is sufficient to answer the question.

o3



TS &7 S99 &7 & AT F & Fuw 17 &2 9@ &
Neither 1 nor 2 is sufficient to answer the question.

X4
FaTS F F91F & & AT AT Fua 1 & 9O 2

Only 1 is sufficient to answer the question.

QA0 srg Hiwwr X AT A 2017 & ©oF A A Aregantea #R T e &

Ans

gl & g (AR #) avier §

dte: =t & o wem AevnEe i gl Tuw 5w e = o

Question 1D ;9864493737
Status : Answered
Chosen Option : 2

wT T ¥
7§ ¥ F7 2017 mmtmﬁhﬁmmﬁqﬁyh

L.
[}

Bn |l'h'\-'lﬂl'l\-hhl1

jan- FEElr  feb- WEAT  mar-ATEpr - FEE may- #F jun- S

The data given shows the registration of bikes and total vehicles {in thousands) for six
maonths in 2017 in city X.

333353538

Note: In the chart, the first mumber represents bikes and the second mumber represents
todal vehicles,
The increase in registration of bikes from May to June 2017 is:

LH]
0
LT Y

35
30
5
0
1%
1w
5
]

o 'lbm.q:rm.rp.l

X 1.69%
v 64.7%
X 3 70%
X 4 60%

Q.41

Ans

urERR IR T s w0 e A g e A e O
TR ur STy TR st g A AT s AR Rk s o
T § oiE 79 & afew & nf o= gt

To go a distance of 40 km upstream a rower takes 8 hours while it takes her only 5 howrs
1o row the same distance downstréam. What was the rower’s speed in still water?

Question ID : 9864492810
Status : Answered
Chosen Option ;3

1 4.5 AT 9y wer

4.5 km/h
, 4 Tty gfer wer

4 km/h

by 6.5 frater 9fa wer
6.5 km/h

x ¢ 15 et 9fa ger
1.5 km/h

Q.42




THIEH, qUET # Wi e snicdes dfesai 2017 # T =
TE= e

Who won a gold medal in the World Weightlifting Championship at Anaheim, USA, in
20177

Question 1D : 9864492219
Status : Answered
Chosen Option :1

Ans o #rraTg =

Mirabai Chanu

i ol
Kunjarani Devi

x 5 POH FeorRal
Karnam Malleswari

X 4 CETIRAC
Vandna Gupta

Q43 # & 7§ seiw ¥ W A UF a0 WO w0 W FHE ST §W AR
# wr T A o E

(215

CQuestion |D : 9864493825
Status - Answered
Chosen Option ;1

O
LS
J=la

Use cach of the following figures only once and form three groups. The three groups so

]

/|0
V=4

Ans o1 (1,4,7), (2,5,8), (3,6,9)
X 2(1,5,7), (2,4,8), (3,6,9)
X 3 (1,4,7), (3,58), (2,6,9)
X +(1,4,7), (2,6,8), (3,59)

formed
QAT
C/

VU Fa Fr FINET AT FET o= a2

Question I1D ;9864493335
Status : Answered
Chosen Option : 2

A fungal cell wall is made of:
Ans v Frefea (chitin)

chitin

. TR
cellulose

<A
lignin

4 g Fegeitst (hemi-cellulose)
hemi-cellulose

Q.45

Cuestion 1D ; 9864493968
Status ; Answered
Chosen Option : 2




faw v ae Fr AR HfUw s9ged e & v 9o F

T T & O Fau g @t

Complete the following sentence with the most appropriate option.

A king will always have a :

Ans 'H"-ﬂ'
.
Minister
Im=a
v
Kingdom
=
53
Queen
754
Sword
Q.46 T o on frame ot o ot B & o srurent A & sad ot @ PR Question 1D : 9864493645
&7 Status - Answered
Chosen Oplion : 2
ok

uF v W R 2200 S v Aol A § wn o g
fing sfr oo ol & o ARt wT W R

HAUHT
1. FEEAET & FiHE d9 E

2. warssar & P or a0 T o wea, S i e e @ @
_tictlpm era/si snoitpmussa nevig eht fo heihw ediced dna temugra eht redisnoC

nemugri

ton era elpoep tey seronc 200 2 fo teoc gmippobow a hiny detcurtsnoe neeb sah revoyif A
eum revoylf bt grisilitg

noitpmussi

1. .sselesu 51 revoylf eht fo noftcurtsnoC
2. detsaw saw revoylf eht fo noateurtsnoc eht no tneps verens dna venom emit ehT

e, 1312 Qe
ticilpmi era 2 dna 1 htoB

zarq*srq:&m@mﬁﬁa%l

X
tietlpmi s1 2 noitpmussa yInO
o Fael qduron 1 fafea &
ticilpmi si 1 noitpmussa ylnO

dsra’H A a & 2 PRa &

ticilpmi 51 2 ron 1 rehtieN

v

Q.47 S IECD Eﬁ' fregerr T F]T-ﬂ' g': Question ID - 9864493286

Status : Answered

Mechanical energy is the sum of: Ctiossiy Qplice:2

| st + R s

chemical energy + electrical energy



T 3l Feufder sl

kinetic energy + potential energy

x3=1ﬁ|3{3:3{‘r+mm?

kinetic energy + heat energy

x4_%4ﬁsr$a‘r+m3~:ﬁ

potential energy + heat energy

Q.48 1 x 10 AiE Wiy #eT & gugias WO #1 FuA W UE Aeas & pH
=T g |
The pH of a solution, whose hydrogen ion concentration is 1 % 10~ *maole per litre, will be

Question 1D : 9864493310
Status : Answered
Chosen Option : 2

Ans X' 1 6
V25
X34
X 47

Q.49 ofia & 3l AT ST & 2 45 : 46 T 9F HT A 9 Taer O WA ¥ 4
55 : 57 @ g sfae A whE & 58 M 40 aFE @ o o A R
Ted T 3% 50 e 29 w%T O Oi9 T AW A IR O gl S
# Tormer ARG wTRIT?

Cuestion 1D ;9864492994
Status ; Answered
Chosen Option : 2

Praneet started lus jowmey at 2:45:46 pun, and reached the destination at 4:55:57 pan.
Anit started the joumey 58 mins 40 secs after Praneet and reached his destination 50 mins
29 secs after ham. How long did Anit take 1o complete his joumey?

Ans :
x o, 1 51 59 fAse

1 hour 59 minutes
x 2 2 ge 2 fAae
2 hours 2 minutes
v 29 1 e 12 3
2 hours 1 minute 12 seconds
x4 2 HE 2 WH3
2 hours 2 seconds

Q.50 37 BFeT 7 99 # Fetaies B & # oF weeites e &

Question 1D : 9864494258
Status : Answered
Chosen Option -1




N2

Q.51 =f st & B o oge i Ao rery wiew S e E Arem e e ; .
- R Question 1D ; 9864493093

Status : Answered
If the first and third members of a Dobereiner triad are Phosphorus and Antimony, the
second member of this triad is: Chosen Option : 3

Ans W

Q.52 &= Rt & # 7o9 FogE BT & T BeRie & T
Lot - btk il Question ID ;9864494128

Status : Answered
TFEETET AT vk Chosen Option : 4

Complete the following sentence with the ot appropriste oplion

An office always has a'an

Ans x.‘. m,g

Kitchen
od
2
X Roof

Gars

3.
x Car

~ orfreTdr

T Authority

08 Srafaf@a § ¥ #iF w AT e Question ID : 9864492744

Among the following which is a rational number? Stulil s Aveditad

Chosen Option : 2
Ans X 1. w

AR
X 3312

| =

=3@ ara3 +

X 433
e o a + = ? Question ID : 9864492876
Status : Answered

Ifa+in 3,thena3+ai’.h? Chesen Option :1

B |=

L]

a

ans of 118
X29
X326
X412

Q.55 =fy o & 3w 130p 3785, 15 & o Penfne 1. o p o mgmee A T
)
If the 8 digit number 136p 5735 is divisible by 15, then find the least possible value of p?

Question 1D ;9864492503
Status - Answered
Chosen Option 2



Ans ?{14 1
vl
K32
X443

Q.56
mmmtﬁvﬂm“*hﬂ““m*m Question |0 : 9864492374

Which chef was awarded the Padma Shri in 2017 for his culinary contritutions? Status : Answered

Ans X : f Chosen Option ;3
1 g

Madhur Jaffrey

e g

' Ranveer Brar

T Gt g AL, TxX {4+ (-2) x (=3)} =7 Question ID : 9864492699

) ) - » _9 Status : Answered
Solve the following 7 X {4 + (—=2) X (=3)} =7 Chosen Option 3
Ans X1 _14

X214
V370
X 4 42

O w AR ToT A A O g IR Question ID - 9864492118
Which Indian State has the most number of airports? Sl : Ramwerea

P Chosen Option =3
ns qﬁ'ﬂ'ﬂ' m‘
x< 1
West Bengal

!
Maharashtra

Q.59 wfSfen swwiae siEed e 2017 St F F5maw g @fte B i
The Fugitive Economic Offenders Bill 2017 was passed by which ministry?

Question 1D : 9864492288
Status - Answered

Ans 1 5 m Chosen Option : 3
Labour Ministry
W2 .
Finance Ministry
3 o= AT

Commerce Ministry



a:iq\:rﬁmmr

X 4
Law Ministry

26045 -[38-{60+3-(6—9+3)+3}]=? Question ID ; 9864492559
45—-[38—-{60+3—-(6—9+3) =3} Status - Answered

=20 ¢1 2% Chosen Option : 1
X221
X425
X424

QB A st e i wrmm iR f, mig e am s 2
What is the name of the point at which the chromatids are attached in a chromosome?

Question 1D ;9864493438
Status - Answered

Ans {1 ﬁaﬁw {CEI‘IH'DH'IETE} Chosen Option : 3

Centromere

X 2 S (Gene)
Gene

X 3 dR& I (Centrosome)
Centrosome

o urgETag (Nucleosome)
Nucleosome

Q.62 z@ Fua N B AR a0 F F B w A F Fa @ anon saERa Question 1D : 9864494379

gl
Status : Answered
T Chosen Option : 4

=g AW & e &, g den & @ A wE srdea S8 e o

YT
1. arw S & e ue @ smeasa i b
2. ¥ wew 0 oy £ BeF e a7 B oow &a foamasm B

Consider the statement o be true and decade whach of the following assumptions 1s'are
mplicit.

Statement:
This vear i the bodget section, there was no fund allotment for travel msurance.

Assumptions:
1. Travel insurance requires funds.
2. There are many other areas that need more financial attentions.

Ans x1aﬁ|ﬁﬂm1 Jdfefgd g

" Only assumption 1 is implicit.
x5 ar arom 1 a1 2 JdaRd g
Either assumption 1 or 2 1s implicit.
| arom 1 3R 2 Qe saffed &)

Both assumptions 1 and 2 are implicit.

, e RO 2 8 Sfcfafed &
.Dnly assumption 2 15 implicit.

v

X

Q.63
Question 1D : 9864493926

Status : Answered
Chosen Option : 4




3@ AFT F 9T w1 ey vHg ¥ e ad f

]'f‘.b'ixxxxi]
8 x|x ole olo x
A B C D

Select the figure that does NOT belong in the following group.

[ bl oc g
A B C D
Ans X1D
X2B
X3 A
viC

Q.64 m#ﬁﬁaq?ﬁﬂﬁmg-ﬁmﬁmmtwﬁﬁmwm
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Which of the following allotropes of Carbon is used a% a reducing agent in metalhargy?

Question |D ;9864493431
Status : Answered
Chosen Option : 2
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Carbon Black
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Charcoal
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Coke
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Question 1D : 9864493969
Status : Answered
Chosen Option : 4
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Select the option that will correctly fit in the blank space in the given figure.
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Q86 yifr 23 x 31 =713 @ 0. 0713 + 3.1 Fg=r gem? Question ID - 9864493001

23 x 31 = 713. How much is 0.0713 + 3.12 S
Ane x | 0.0023 Chosen Option ; 4
X 2023
X323
v 40,023
Q67 i T earegEw fraw wF ol f B e A & o st s Question 1D : 9864493868
i & A Status - Answered
e Chosen Option ; 4
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Consider the argument and decide which of the given assumptions is‘are implicit,
Argument:
If you're a classical dancer we have an exciting job for you,
Assumptions:
1. We need a classical dancer.
2. You are a classical dancer.

AR Ad 2Rl

Neither 1 nor 2 is implicit
o A 2 fafgT &
) Only assumption 2 is implicit
 ae HegAE 1 AT #
J Only assumption 1is implicit
|1 3R 2 3 fafew &

Both 1 and 2 are implicit
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Q8 S BT T AT F fBraa ﬁ'ﬁ:]'?l' &7 Question ID - 9864493742

Status ; Answered

Chosen Option :1
How many triangles are present in the below figure?

ans X112
X215
V14
X413
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If the letters in the word BACKFIELDS are amanged as in the English alphabetical order, StatsAnaweren
then which letter will be to the second right of the letter ‘F', after the reamrangement? Chosen Dpﬂnn 2

Ans X1 E
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Amish Tripathi, a famyous Indian writer, is working on a series based on Ramayana, in

Question |0 : 9864492381
Status - Answered
Chosen Option : 4

which the first two books focus on Rama and Sita, respectively. On which character does
the third book of this series focus?

Ans THUT
W
Raavana
o2
Bharata
Na 2
Hanuman

4

Lakshmana

QT 55 T 37 99 Ft S el TAE ¥ waT 78 8 Question ID : 9864493961

Status : Answered
Chosen Option : 4
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Select the figure that does NOT belong in the following group.

BDBB)

A B C D
Ans X1D
X2B
X3A
v+C

Q.72 ¢ o & rw TOF & feeh often & s fram e F ofer dwT 0w AT . i
whemdt T # e g AT O & O 3 o SR o7 wEE o A Question 1D : 9864492698

sEa 3 & 77 T H AT O W O WAE ¥ R & otwa R Status : Answered
=T B Chosen Option 1

There was a group of six students who took a test. Ancther student joired the growp after
taking the test later. With her marks included the average score of the group went up by 3.
This student has got marks more than the average marks without her being

inchuded

Ans  of 1 21
X220
x< 318
X 424

Q.73 fmad . ] :
o 1 i o e B e A 2s00 H UETn N A1 W e o il i g Question |D : 9864492636

Thie smalbest puonbes ehas izt be sebaracted frons 2500 w0 that the obiaimed puamber is o parfiect squige 1 Status - Answered
Ans of 1 60 Chosen Option : 4
X209
X373

X 4 96



Q.74 T ve 1% &, o7 DOG & 4157 fomy = & & MAT = &
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In a cerfam code, if DOG is written as 4157, then what will MAT be written as?

Question 1D ;9864493958
Status - Answered

Ch Option : 4
Ans. X 1.13012 R
X 212120
X 314120
v 413120
QT8 & Rt s@em 1 e UG T Question ID : 9864494321
Status - Answered
Chaosen Oplion ;3
PG, QH,RI. ?

Select the term missing from the given series.

PG, QH,RL ?
Ans O 1 JE
X2LT
v ss
< 48T




